
 
MODEL NO. 2500-401 

   WHEEL SCANNER MOUNT 
 

 

DS-2500401-062-17  http://www.southern-tech.com/ Page 1 of 2 

Wheel Scanner Cover
and Module

Wheel Scanner Mount

 

 

Description: 

The 2500-401 Wheel Scanner Mount is compatible with Type III Scanners.  It attaches to the rail in a way 
that ensures that the scanners are: 

 Correctly aimed 
 Easily re-aimed, if necessary 
 Isolated from as much shock and vibration as 

possible 
 Electrically isolated from the rail 

The wheel scanner mount can be installed on either rail, 
eliminating the need to maintain left rail and right rail 
models.  Though not interchangeable, the wheel scanner 
mount and bearing scanner mount contain many common 
parts, which mean that fewer spare parts need to be kept 
on hand. 

  



DS-2500401-062-17 http://www.southern-tech.com/ Page 2 of 2 

2500-401 Wheel Scanner Mount – Exploded View 
 

 

 
 
General Specifications 

 Finish  Cast aluminum alloy, powder coated 

 Dimensions 12.00”L x 5.50”W x 8.00”H 
 Weight 15.85 lbs 

 

 

Scanner Housing Base Clamp
41-121-071

HHB 1-14 x 8-1/2"
01-113-027

Locator Pin
41-121-107, 2-Req.

1"NPT PVC Hex Pipe Plug
34-100-050

1/4" Internal Tooth Lockwasher
01-123-004, 2-Req.

SCS 1/4-20 x 1/2" S.Steel
01-101-023, 2-Req.

T&B Solderless Lug #6
49-100-041

Hot Wheel Detector Base
41-121-194

Tap Bolt 3/8-16 x 2-1/2"
01-113-029, 2-Req.

Tap Bolt 3/8-16 x 4"
01-113-028, 2-Req.

3/8 x 1"OD Gal. Flat Washer
01-121-028, 4-Req.

Shock Mount (Pair)
12-119-003, 4-Req.

3/8 Fender Washer x 1-1/4"OD
01-121-014, 2-Req.

3/8-16 ESNA Half Nut
01-118-009, 4-Req.

3/8 Flat Washer S.Steel
01-121-011, 6-Req.

3/8-16 ESNA Nut
01-118-007, 4-Req.

Cast Track Clamp
41-121-122

1" Flat Washer Plated
01-121-012

1-14 Hex Nut Jam
01-117-012

1-14 ESNA Nut
01-118-011


